PV-ezRack SolarRoof

ER-1-01

Tile Interface

~ Tile Roof Hook 1

- Z-Module

~ Washer Bmm({5/16")

~ Lock washer 8mm (5/16°) A2

~ Hex Socket Head Bolt M8 x 25mm
(516" x 63/64°) 933 A2-70

~ Buildex 14-10 x 50 Hex Head Zips
screw

ER-1-02

Flat Tile Interface

~ Flat Tile Roof Hook

- Z-Module

~ Washer Bmm{5/1€")

~ Lock Washer 8mm (5/167)

~ Hex Socket Head Boit M8x25mm
(5/16" x 63/64")

— Buildex 14-10 x 50 Hex Head Zips
screw

ER-I-26

Tile Interface - Side Mount

~ Tile Roof Hook 2

~ Z-Module

~Washer 8mm (5/167)

~ Lock Washer 8mm (5/167)

~ Hex Socket Head Bolt M8 x 25mm
(516" x 63/64")

~ Buildex 14-10 x 50 Hex Head Zips
sCrew

ER-I1-01/EZC/ECO

Tile Interface with ezClick connection

for ECO-Rail

~ Tile Roof Hook1

~Clamp 1 for ECO Rail

~ Clamp 2 for ECO Rail

~ezClip Spring

— Lock washer M8*18

- Hexagon socket head cap screw
M8*28

~ Buildex 14-10 x 50 Hex Head Zips
screw

ER-I-04

Slate Interface

— Slate Roof Hook

~ Z-Module

~ Washer 8mm (5/167)

— Lock Washer 8mm (5/167) A2

~ Hex Socket Head Bolt M8 x 25mm
(5/16° x 63/647)

~ Buildex 14-10 x 50 Hex Head Zips
scTew

ER-I-51

Tile Interface, 118mm horizontal
arm, with BX screw 6.3'50

~ Tile Roof Hook with 118mm horizontal

arm

— Z Module (Anodized)

~ Washer 8

~ Lock washer MB*18

— Hexagon socket head cap screw
MB*25

~ Buildex 14-10 x 50 Hex Head Zips
screw

ER-1-01/CS l
-

&

Tile Interface, Carbon Steel

~ Tile Roof Hook1 (Carbon Steel)

- Z Module

— Washer 8

— Lock washer M8

- Hexagon socket head cap screw
MB*25

~ Buildex 14-10 x 50 Hex Head Zips
SCrew

ER-1-23

— Washer 8 (5/167) DIN 9021 A2

~ Lock Washer 8mm (5/167) A2

~ Hex Socket Head Bolt M8x25mm
(56" x 63/64') 933 A2-70

~ Buildex 14-10 x 50 Hex Head Zips
screw

~ Washer 8mm (5/167)

- Lock Washer 8mm (5/167) A2

- Hex Socket Head Bolt M8 x 28mm
(516" x 1 1/8°)

~ Buildex 14-11 x 70 Hex Head Zips
screw

03



